The Indian Express Editorial — By English Madhyam

Express View: Lesson from wheat fields

With wheat stocks in government godowns, at 9.7 million tonnes on March 1, the lowest in seven years
for this date, all eyes are on the crop about to be marketed. For now, a bumper harvest seems to be in
the offing, at least in Punjab, Haryana, UP and Bihar. Unlike in 2022 and 2023, when the crop suffered
yield losses due to temperature spikes and unseasonal heavy rains respectively during the final grain
formation and filling stage, no such “Ildes of March” weather events have been reported from this
major wheat belt. March temperatures ruling near normal this time and three-fourths of the grain-
filling completed augur well for the crop across the Indo-Gangetic plains. The problem, if any, is with
the wheat in central India — MP, Gujarat and Maharashtra — that has already been, or is close to
being, harvested. And even there, it's not March but November-December temperatures that may
have played spoiler.

It only highlights how susceptible wheat — and agriculture itself — has become to climate change. In
this case, it isn’t just terminal heat stress, leading to premature ripening and drying of the crop in its
final growth phase. It is also about relatively warm temperatures at the time of sowing and initial
vegetative growth period, resulting in fewer tillers being formed and premature flowering. Climate
change, thus, manifests itself both in the early onset of summer and the delayed setting in of winter. If
the 2021-22 wheat in northwest and north India was affected by the former, the crop this time in
central India has apparently taken a hit from the latter. To the extent the lower yields from central
India are offset by better-than-average production in the Indo-Gangetic plains, the country can still
end up harvesting more wheat than in 2021-22 and 2022-23. Whether that is so will be known in a
month’s time. Thankfully, global wheat prices are currently at their lowest in four years, making
imports feasible. The government should enable it by doing away with the 40 per cent customs duty.

From a medium- to long-term perspective, India has to invest more in breeding for climate change.
The Green Revolution strategy essentially relied on expansion of irrigation and developing crop
varieties responsive to high fertiliser application. Green Revolution 2.0’s focus must be on input use
efficiency — producing more from the same or even less quantity of water, nutrients and energy —
and building climate resilience through breeding of drought-resistant and heat-tolerant varieties. This
would entail screening germplasm and identifying genes in plants responsible for the desirable traits.

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’

denotes ‘subject’ and ‘blue’ denotes ‘verb’. |[Practice Exercise]‘
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10.

Vocabulary

Market (verb) — Sell, trade, deal in, offer for
sale, distribute ST H ST=1T

Harvest (noun) — Crop, yield, produce,

gathering, reaping Bddl

Be in the offing (phrase) — Imminent,
upcoming, forthcoming, in the pipeline, on

the horizon ﬁwaﬁwﬁrgﬁm

Unlike (preposition) — Different from,
dissimilar to, not like, unalike, contrasting

with & faalia

Yield (noun) — Production, produce, crop

CLAGIEY

Spike (noun) — Surge, increase, upsurge,

upturn, escalation E(I"'I:E

Ides of March (noun) — A day in the Roman
calendar that corresponds to 15 March,
historically associated with the assassination

of Julius Caesar 341??3'73-]1%'59!3

Belt (noun) — Region, area, zone, district,

territory &aT

Rule (verb) — (of a price or a traded
commodity with regard to its price) have a

specified general level or strength. {g«T

Augur well (phrase) — Bode well, promise
well, be a good sign, indicate a good

outcome, forecast a good result QlﬁTFﬁv_cr

et
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11.

12.

13.

14.

15.

16.

17.

18.

19.

Spoiler (noun) — A person or thing that ruins

or spoils something SITET

Highlight (verb) — Emphasize, underline,
spotlight, focus on, bring to the forefront

TG B T RId el

Susceptible (adjective) — Vulnerable, prone,

liable, at risk, sensitive TaceTeiel

Terminal heat stress (noun) — A condition
where plants are exposed to high
temperatures towards the end of their

growth cycle, leading to reduced yield giey
T FTA#H d9 Jelta

Lead (to) (verb) — Cause, result in, bring
about, produce, give rise to ol hI{UT FolodT

Premature (adjective) — Early, untimely,
before time, ahead of time, premature

AT

Ripening (noun) — The process of becoming

ripe, maturing, developing, aging Tehel hl
SIER)

Sowing (noun) — The act of planting seeds

GRS

Vegetative growth (noun) — The growth of a
plant that involves the development of its
vegetative parts such as leaves and stems

gaeafa fAerg
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20.

21.

22.

23.

24,

25,

26.

27.

28.

29.

30.

Result in (phrasal verb) — Lead to, cause,
bring about, produce, provoke gRuTH glaT

Tiller (noun) — A shoot or sprout from the

base of a plant, especially a cereal plant 3-1"107

Manifest (verb) — Display, show, exhibit,
demonstrate, reveal 9Yehc hidAT

Onset (noun) — Beginning, start,

commencement, outset, initiation QF}HT-T

Setting in (noun) — The beginning or start of
something [¥3Tc

The former (noun) — Here it refers to ‘the
early onset of summer’

Apparently (adverb) — Seemingly, evidently,
it appears that, it seems that, as it appears

ECICECIN

Take a hit (phrase) — Suffer a setback or loss
WB?SI?—IT

The latter (noun) — Here it refers to ‘the
delayed setting in of winter’

To the extent (phrase) — To the degree, to
the level, to the point, as far as, up to a point

T8l deh

Offset (verb) — Counterbalance, balance,
counteract, compensate for, make up for

$TUTS AT
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31

33.

34.

35.

36.

37.

38.

39.

40.

41

. End up (phrasal verb) — Conclude, finish,

culminate, result, come to an end HHTCT

AT

. Feasible (adjective) — Possible, achievable,

practicable, viable, workable g

Do away with (phrasal verb) — Abolish,
eliminate, remove, get rid of, put an end to

HATCA el

Customs duty (noun) — A tax imposed on

imports and exports of goods HIAT Q;W

Perspective (noun) — Viewpoint, standpoint,
angle, outlook, approach gfScepIoT

Breeding (noun) — The mating and
production of offspring by animals, the
development of new varieties of plants

Yoleled

Rely (on) (verb) — Depend on, count on, bank

on, trust, lean on ﬁfﬁﬁTgla—-ll

Irrigation (noun) — The supply of water to
land or crops to help growth, typically by

means of channels i?lillé

Efficiency (noun) — Effectiveness,
productivity, competence, capability,

performance FRIGTHAT

Resilience (noun) — Toughness, strength,

sturdiness, robustness, hardiness HGI’GI(\?-ﬁ

. Drought-resistant (adjective) — Capable of
withstanding a lack of water H‘:@Tm
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42. Entail (verb) — Involve, require, necessitate,
lead to, result in 3TGTehdT Bl=IT

43. Screen (verb) — Examine, test, evaluate,
assess, check ST AT

44. Germplasm (noun) — The genetic material of
a plant or animal, used in breeding and
conservation
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45. Gene (noun) — A unit of heredity which is
transferred from a parent to offspring and is
held to determine some characteristic of the
offspring

46. Trait (noun) — Characteristic, attribute,

feature, quality, property Ta_Isdr
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Summary of the Editorial
1. Wheat stocks in government godowns are at their lowest in seven years for this date, with 9.7
million tonnes on March 1.

2. A bumper wheat harvest is expected in Punjab, Haryana, UP, and Bihar, unlike the previous two
years affected by weather events.

3. March temperatures are near normal, and three-fourths of the grain-filling is completed,
indicating a good crop in the Indo-Gangetic plains.

4. Central India (MP, Gujarat, Maharashtra) may face issues with wheat yield due to higher
temperatures in November-December.

5. Wheat and agriculture are increasingly susceptible to climate change, affecting both early and
late growth stages.

6. Climate change causes early summer onset and delayed winter, impacting wheat yields in
different regions.

7. India may still harvest more wheat than in the previous two years, despite lower yields in
central India.

8. Global wheat prices are at a four-year low, making imports feasible if the government removes
the 40% customs duty.

9. India needs to invest in breeding for climate change to ensure long-term food security.
10. The focus of Green Revolution 2.0 should be on input use efficiency and climate resilience.

11. Developing drought-resistant and heat-tolerant crop varieties is essential for adapting to
climate change.

12. Screening germplasm and identifying genes responsible for desirable traits are crucial for
breeding efforts.

13. The current situation highlights the importance of agricultural research and innovation in
response to climate change.

14. Ensuring food security in the face of climate change requires a multifaceted approach, including
policy support and technological advancements.

15. The lessons from the current wheat harvest underline the need for proactive measures to adapt
agriculture to changing climate conditions.
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Practice Exercise: SSC Pattern Based

1. What is the tone of the passage? ‘[Editorial Page]‘

A. Optimistic

B. Pessimistic

C. Analytical

D. Indifferent

2. What is the main theme of the passage?

A. The history of the Green Revolution

B. The impact of climate change on agriculture

C. The role of government in regulating wheat prices

D. The importance of irrigation in wheat production

3. Based on the passage, which of the following statements best describes the impact of climate
change on wheat production in India?

A. Climate change has had a negligible impact on wheat production, as evidenced by the
consistently high wheat stocks in government godowns over the past seven years.

B. The primary impact of climate change on wheat production has been the fluctuation of
March temperatures, which has directly affected the wheat yield in Punjab, Haryana, UP,
and Bihar.

C. Climate change has made wheat production more susceptible to weather events, such as
temperature spikes and unseasonal heavy rains, which have caused yield losses in recent
years.

D. The impact of climate change on wheat production is limited to central India, where
November-December temperatures have affected the wheat crop.

4. What can be inferred about the wheat crop in Punjab, Haryana, UP, and Bihar for the current
year based on the passage?

A. The wheat crop is expected to suffer yield losses due to unseasonal heavy rains during the
final grain formation and filling stage.

B. A bumper harvest is anticipated, as there have been no reported adverse weather events
during the crucial grain-filling stage, and March temperatures have been near normal.

C. The wheat crop is likely to be affected by terminal heat stress, leading to premature
ripening and drying of the crop in its final growth phase.

D. The wheat crop is expected to face challenges due to high temperatures in November-
December, which may have played a spoiler role.

5. According to the passage, what factor could contribute to India potentially harvesting more

wheat in the current year compared to 2021-22 and 2022-23?

A. The imposition of a 40% customs duty on wheat imports to encourage domestic production.

B. The development of new wheat varieties that are resistant to pests and diseases.

C. Lower yields in central India due to unfavorable weather conditions.

D. Better-than-average production in the Indo-Gangetic plains offsetting lower yields in central
India.

6. Select the option that can be used as a one-word substitute for the given group of words.
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Pause indecisively
A. Hibernate
B. Hesitate
C. Hoist
D. Hobble
7. The following sentence has been split into four segments. Identify the segment that contains
a grammatical error and select the option which rectifies that error.
The SNAP-10 A / was launched on 3 April 1965 / on a Atlas-Agena D rocket / from Vandenberg
Air Force Base.
A. at Vandenberg Air Force Base.
B. ASNAP-10A
C. was launch on 3 April 1965
D. on an Atlas-Agena D rocket
8. Select the correct spelling of the underlined word in the following sentence.
He dispised the taste of black coffee.
A. despisid
B. disspised
C. despised
D. Despeded
9. Parts of the given sentence have been underlined. One of them contains an error. The
underlined parts are given as options with some changes. Select the option that correctly
rectifies the error.
This car is lesser expensive than the one | had come to buy.
A. for
B. came
C. ones
D. Less
10. Select the appropriate meaning of the given idiom.
Grasping at straws
A. Futile attempts to win
B. Desperate attempt to succeed
C. Holding the last strands of straw
D. Wasting time enjoying and relaxing
11. Select the most appropriate idiom to fill in the blank.
She told me, , that she was going to live in New York.
A. blue blood
B. black and blue
C. out of the blue
D. once in a blue moon
12. Select the most appropriate synonym of the bracketed word in the following sentence to fill
in the blank.
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The medical procedure was successful, but the patient experienced some minor
(troubles) during recovery.
applications
complications
transformations
. Obligations
13. The following sentence has been divided into four parts. Identify the part that contains an
error.
(A) It is said / (B) that fortune / (C) favour the / (D) brave.
A. B
B. C
C. A
D. D
14. Select the most appropriate option that can substitute the underlined segment in the given
sentence.
Teenage is that phase of life when you are proposed to the world outside.
A. you are exposed to
B. you are excited with
C. one are proposed to
D. you are interrupted to
15. Select the INCORRECTLY spelt word.
A. Sergeant
B. Playwright
C. Experiance
D. Leisure
16. Select the most appropriate option to fill in the blank.
Ravi has little in with his friend, Senthil.
A. common
B. contention
C. formal
D. Normal
17. Select the most appropriate ANTONYM of the given word.
Dense
A. Sparse
B. Opaque
C. Closed
D. Thick
18. The following sentence has been divided into parts. One of them may contain an error. Select
the part that contains the error from the given options. If you don’t find any error, mark ‘No
error’ as your answer.
The fight of the cobra and the mongoose / is a classic drama often seen in India, / and the
outcome was largely the same.

oo wp»
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The fight of the cobra and the mongoose
No error
is a classic drama often seen in India
and the outcome was largely the same
19. The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.
The little child / wrote his name / quick / on the wall.
A. quick
B. wrote his name
C. onthewall
D. The little child
20. Select the most appropriate meaning of the given idiom.
Bone to pick
A. To be angry about something and want to discuss it
B. To stop trying hard
C. Tonotgive up
D. Putting in extra effort
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Health is the most valuable of all earthly possessions. Without it all the rest are worth
(1) . To enjoy good health we should refrain from excess in eating. We should eat
moderately and devour whatever (2) get. When you sit among many for a dinner, do not
reach your hand out (3) of all. A little food is sufficient for us. Sound sleep comes of a
light stomach. Such a man rises (4) in the morning and is at ease with himself. So to
(5)____ good health we should eat moderately, for a man who does not overeat enjoys sound
sleep and rises early completely refreshed.
21. Select the most appropriate option to fill in blank no. 1.
A. it
B. nothing
C. everything
D. All
22. Select the most appropriate option to fill in blank no. 2.
A. us
B. he
C. we
D. It
23. Select the most appropriate option to fill in blank no. 3.
A. first
B. second
C. last
D. End

oo W
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24. Select the most appropriate option to fill in blank no. 4.
A. late
B. early
C. active
D. Idle

25. Select the most appropriate option to fill in blank no. 5.
A. lose
B. benefit
C. reward
D. enjoy
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Answers
1. C 2B 3.C 4B 5D 6B 7.D 8C 9D 10.B 11.C 12.B
13. B 14A 15C 16A 17A 18D 19A 20A 21.B 22.C 23.A 24B
25.D [Practice Exercise]|
Explanations

1. C) Analytical
The tone of the passage is analytical as it examines the impact of climate change on wheat
production, provides data on wheat stocks, and discusses the need for breeding for climate
resilience.

2. B) The impact of climate change on agriculture
The main theme of the passage is the impact of climate change on agriculture, particularly on wheat
production. It discusses how climate change affects wheat yield, the importance of adapting to
climate change through breeding, and the need for a focus on input use efficiency and climate
resilience in agriculture.

3. () Climate change has made wheat production more susceptible to weather events, such as
temperature spikes and unseasonal heavy rains, which have caused yield losses in recent years.
The passage highlights that wheat production has become more susceptible to climate change, with
yield losses in 2022 and 2023 due to temperature spikes and unseasonal heavy rains, respectively.
This indicates that climate change has had a significant impact on wheat production, making it more
vulnerable to weather events.

4. B) A bumper harvest is anticipated, as there have been no reported adverse weather events
during the crucial grain-filling stage, and March temperatures have been near normal.

The passage indicates that, unlike in previous years, there have been no "ldes of March" weather
events reported from the major wheat belt of Punjab, Haryana, UP, and Bihar. Additionally, March
temperatures have been near normal, and three-fourths of the grain-filling is completed, which
augurs well for the crop. Therefore, a bumper harvest is anticipated for the current year.

5. D) Better-than-average production in the Indo-Gangetic plains offsetting lower yields in central
India.

The passage states that despite the lower yields in central India, the country can still end up
harvesting more wheat than in the previous two years if the yields from the Indo-Gangetic plains are
better than average. This suggests that the key factor contributing to a potential increase in wheat
production is the better-than-average production in the Indo-Gangetic plains.

6. B) Hesitate (verb) - pause or hold back in uncertainty or unwillingness. HPT HIT
e Hibernate (verb) — to spend the winter in a dormant state, typically used for animals. gféar
# A & S
o Hoist (verb) —to raise or lift, especially by some mechanical appliance. 31T

o Hobble (verb) —to walk in an awkward way, typically because of pain from an injury.
AISTAT
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10.
11.

12.

13.

14.

D) grammar@r error 'on a Atlas-Agena D rocket' & % FIifeh 'Atlas-Agena D rocket' & ‘-'l%ﬁ dTell
2Is 'Atlas' vowel sound & QBT élal %,saﬁ%m 'a'dh TATA 9T 'an' HT YT élo‘-H ﬂli%Q;ﬁQ}I—

on an Atlas-Agena D rocket.
e The grammatical error is in the segment 'on a Atlas-Agena D rocket' because the word
following 'a' starts with a vowel sound, 'Atlas.' Therefore, 'an' should be used instead of 'a’;
Like— on an Atlas-Agena D rocket.

C) The correct spelling of the underlined word 'dispised' is 'despised,’ ﬁw,
D) Lesser' & Scof 'Less' & TANT BI9M, Fifeh 'Expensive' Teh QLT adjective%’ & 'less'
TTY use THAT FATAT %’, 'Iesser'a‘-!%sfl 'Lesser' &T 9AWT shdel countable nouns & T Efl('-ll %’I

S — This car is less expensive than the one | had come to buy.

o 'Less' will be used instead of 'lesser' because 'expensive’ is an adjective that should be used
with 'less,' not 'lesser.' 'Lesser' is typically used with countable nouns. Like— This car is less
expensive than the one | had come to buy.

B) Grasping at straws (idiom) — Desperate attempt to succeed THel Bl T ST TITH
C) Out of the blue (idiom) — Something happening unexpectedly. 3dledsh

e Blue blood (idiom) — A person of noble or royal birth. 3T $el ol

e Black and blue (idiom) — Covered with bruises. el & JolT §31T

e Oncein a blue moon (idiom) — Very rarely. ag?r & P gET H
B) Troubles (noun) — Difficulties, problems, issues, complications. ﬂﬁﬁ
Synonym: Complications (noun) — Difficulties, issues, problems, hindrances. Sifeeamn

e Applications (noun) — Uses, implementations, utilizations. 31'€:I°'§I'¢ﬂ?T

e Transformations (noun) — Changes, alterations, modifications. Ii@del

e Obligations (noun) — Duties, responsibilities, commitments. Fdeg
B) 'favour' & dceol 'favours' &l FANT @?ﬂ Fifeh 'fortune' singular subject %, Hd: a%T singular
verb 'favours' &T Y197 B)I?'IT; S ¥— Fortune favours the brave.

e favours' will be used instead of 'favour' because 'fortune’ is a singular subject, so a singular
verb 'favours' will be used; Like— Fortune favours the brave.

A) 'you are proposed'ai e 'you are exposed to' &l AT BT Fifh ‘proposed'ﬂ%Tu Il
graT %’I 'Teenage' & el afFa 'world outside' & 'exposed'?IHT %’,?J'I?-ﬂ' 33 amfr gﬁm
T 37T BT B

e 'you are exposed to' will be used instead of 'you are proposed' because 'proposed' is not the
correct usage here. During 'Teenage', a person is 'exposed' to the 'world outside,' meaning
they experience the external world.
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15. C) The incorrectly spelled word is "Experiance."” The correct spelling is "Experience," 3-1?:|3'3:IT:|', TN,
16. A) 'Common' &l use?lTIT FIifF 'common' FT 37 ?IHT %’ FHATA IT 3TH. Sentence H mention
fpar arar § & Ravi 3T 3T @Fd Senthil & I HA AT §, 397 'common' Jg&T
Ter g1 J9f 'Contention' T 31 § f3a1g A1 ATHE, 'Formal' 1 3T § 3gafiss, ik

'Normal' &l 31 § TMHT, i SH context H el oTal &l

e Common' should be used because it means similar or shared. The sentence mentions that

Ravi has little in common with his friend, Senthil, making ‘common’ fitting here. Whereas,
'Contention' means dispute or disagreement, 'Formal' means official or ceremonial, and
'Normal' means usual, which don't fit in this context.

17. A) Dense (adjective) — Packed closely together, thick, compact. eI
Antonym: Sparse (adjective) — Thinly dispersed, scattered, not densely packed. 3Teq
e Opaque (adjective) — Not able to be seen through; not transparent, obscure. 3rqreeft
e Closed (adjective) — Not open or accessible, shut. C -4
e Thick (adjective) — With opposite sides or surfaces relatively far apart; not thin. Arer
18. D) 'was' & ol 'is' T TAET 3’D‘IT FAifh 9gell clause 'is a classic drama often seen in India'
Present Tense & &, ar QI clause 'and the outcome was largely the same' o Present Tense &

E’I?-IT Bl S8— The fight of the cobra and the mongoose is a classic drama often seen in India,

and the outcome is largely the same
o 'is'will be used instead of 'was' because the first clause 'is a classic drama often seen in
India' is in Present Tense, so the second clause 'and the outcome was largely the same'
should also be in Present Tense. Like— The fight of the cobra and the mongoose is a classic
drama often seen in India, and the outcome is largely the same.

19. A) 'quick' & TATT 9T 'quickly’ FT TAET BT FAiTh 'wrote' Th action verb § 3 3THT
manner &I describe T & TIT adverb T ST @?ﬂ' %’; ST— The little child wrote his name

quickly on the wall.
e quickly' will be used instead of 'quick' because 'wrote' is an action verb and to describe the
manner of that action, an adverb is needed; Like— The little child wrote his name quickly on
the wall.

20. A) Bone to pick (idiom) — To be angry about something and want to discuss it fh&T aTd 9T shifad
g 3R 39 W AT FT ARS &
21. B) nothing' ST use B9 FAifeh sentence H FHgT IIAT § T "Health is the most valuable of all

earthly possessions. Without it all the rest are worth "I 'nothing' SH context p=
FaTaT & R 3R Tareew A €, IR J9 At Heade @ s €1 S it
'everything',3-ﬂT '‘All'sH context ¥ TEY A&l & Fifep o 3@ Hﬂvqé\ld ERCGIGED.
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22.

23.

24.

25.

e 'nothing' should be used because the sentence says, "Health is the most valuable of all
earthly possessions. Without it all the rest are worth ." Here, 'nothing' fits the
context by indicating that without health, all other possessions are worthless. Whereas 'it',
‘everything', and 'All' are incorrect in this context because they do not make the rest of the
possessions worthless.

'C) we' ol use%’ITIT FIifeh sentence T subject "we”%’ S "enjoy good health" F context &
§dTIT 3T §. "We should eat moderately and devour whatever (2)__ get" & "we" get 81T
EIT%‘U,EIFTﬂ"ﬁ? ?II%T drd 2%?.\" & eating habits &I &I T T@' %’I Safeh 'us' FT use incorrect?flTIT
Fifh 'us' object formg 3 IJgr subject form &I TR &1 'he' 31T 'it' Y incorrect § TR
sentence ol subject 'we'§, 3R TET 9T 'he' AT it T logical sense sT&l STdT|

e 'we'should be used because the subject of the sentence is "we," as mentioned in the
context of "enjoying good health." The sentence "We should eat moderately and devour
whatever (2) _ get" should be completed as "we get" because it is talking about our own
eating habits. Whereas, using 'us' would be incorrect as 'us' is the object form, and here we
need the subject form. 'he' and 'it' are also incorrect because the subject of the sentence is
'we," and using 'he’' or 'it' wouldn't make logical sense here.

A) 'First' ol usemwﬁ?sentenceﬁmwg%mmﬁﬂﬁ'ﬁ*wmw
g & A 39T 8T T&H Ugel o7 deT0| TGT 'first' SHTGIT Hel & Fdifeh SHAT AJT ¢
TR ugel, 3T JgT 9T ey fRAT & gger gl @ &1 'Second!, 'last, 3T 'End' 39
context H TEY sTal & Fdifeh d S specific AT T oTg] Il [ e Yl ITAT &1
T TG &

e  First' should be used because the sentence advises that when you sit among many for
dinner, do not reach out your hand 'first'. 'First' fits here as it means 'before anyone else’,
advising you not to start eating before others. 'Second’, 'last’, and 'End' do not fit in this
context because they do not specify the point at which you shouldn't reach out your hand.

B) 'Early' T use BI9T &Fifeh G passage H IR-gR iR &A1 a1 § o 3ees T & fov
3T &g 3k qse SToar 3 Hscdt-l(\ucl &1 "Such a man rises (4) in the morning" &
context H ‘early' TEY fit AT 21 'Late', 'Active’, 3T 'Idle' 3H context H & aAgT &1

e Early' should be used because the passage repeatedly emphasizes the importance of good
sleep and waking up early for good health. In the context of "Such a man rises (4) in
the morning," 'early' fits well. 'Late’, 'Active’, and 'ldle' do not fit in this context.

D) Enjoy' &T use 89T Fifeh B passage ¥ ST T & f& 3PR FI5 afFa H@ﬁlﬁ HroteT
HAT &, ar 38 3 &ig 3 § 3R & qft e @ drenlh Agqy w1 31 §1 39
contextﬁ, 'enjoy'w %} FAifH g TS TR HT AT o Sl aTd I gl %}I 'Lose’
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FT 7Y ?'?'T %’ @r é\?!T, 'Benefit' &T 31 E’IHT %’ o 3_0"I?-IT,3-ﬁT 'Reward’ T 37 @IFIT %’
PERR Hera, St 38 context ¥ TEr a8l ¢l

e 'Enjoy' should be used because the entire passage talks about how balanced eating leads to good
sleep and feeling completely refreshed upon waking up. In this context, 'enjoy' is appropriate as
it speaks to experiencing good health. Whereas, 'Lose' means to forfeit, 'Benefit' means to gain
advantage, and 'Reward' means to receive a prize or recognition, none of which fit in this
context.
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